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OPTION-A }

( Business Statistics)

Paper : COM-HG- 3016{%2,

V%,

Answer Question Nos. 1, 2, 3 and any four
from the rest. :
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1. (a) Fil in the blanks*- (any four) 1x4=4
ifeT $i% ot 8 (R oiRn)
(i) S.D. is independent of change of-

‘iﬂﬂﬁiﬁWﬂ 3 SRTeTT @IS
o™e = |

(i) If ryy 18 “equal to 0.6, then Tyx 1s

.aﬁrxywm06avmm GO0 1y T T
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s . - 'ents h’
LR (i) Regression co_efﬁm ]"_ave

sign. |
ZEILER e([< YOI fB‘? =0
Index number for base year is
::;:;»I always taken as
| | R AL
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‘A rise in prices before Diwalj

1is an
eXample of variations of tlme
series data. ,

RIRETI 1T o7 9% (RIS e

SR e < B

The probability of occurrence of
an event ranges from to

maﬁmmﬁe @[ TSR T
| asw 3 Vue A

vu) Var1ance is- equal to _ of
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lect the correct answer : (any thgeg)

o oprlate ;
() Which average is appr
L ) computmg average rate of growth ?
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considered negatively é,kéWed if ,.the
graph have a longer tail on

(@) left side
aT\‘sw
(b) r1ght s1de o

(c) both sides - @ - T g8




qualitatiVe data
SN way

Both (@) and ()
(@) &1 (b) gt

(d) None of the above
@5y @Bl DEREN
-vi Both re

gress1on coefﬁc1ents cannot

be |
W Wq BT 27 FER[E y ik
(a) greate‘i‘_ than one '
T v
(b) smaller than one i
| G i
(c) equal to one
@R
(d) :None of the above
goieq «Ble TR

U) ‘.‘Iodex numbers are expres o d.i.m
<

what. fOI‘II‘l p,




(b)  Percentage §
- (c) Squares
o fepiore
(d) None of the above.
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(vi) Mean of a random vafi'éblé X 1s

A5t A eF X T W (TR

(@) E(X) | |
b)) E(x?)

(c) E()_( ) _

@ EX)-EEP

(c) Write True or False : (any two)
B 1x2=0

ey (o) el ¢ (R )

(i) For a number of pOSItlve values
g ARYP WWW e

AM <GM < HM
(ii) In a normal distribulﬁ!
D! e 3 AW

Mean = Median = Mode

Mg = NG = ITTE
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2.

@ Mention the parameter(s) of Poisson

dlStI'lblltUlOl’l

y g
Waﬁwmmmww |

Ahswe_:r any ﬁve of the following questions :
2x5=10

-—wfaﬁmmroﬁvﬁmwm

e .(a} A Student obtained

'»”cov(X Y)=100, 5 =100, 5 _81

-g:-;j.:;.-_;'.lls the data consistent ?
e
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(c)

ﬁ“ﬂ?{ 7

(d)

E
B

Write two differences bet@&’f‘éﬁ"‘en census

-~ foran |
-»What is level of significan

el w1 {2

~dispersion ?

"".ﬁwvrcf{%fca ﬁﬁi@"“

" event will occur.

Arithmetic mean of g numbers is 15.

Afterward a new numper @4 is added.
What is the A.M. of 9 num

8 Bl TR M Wy 151?‘*"
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and sample survey.

Pz GEICS Wﬂﬁwww fﬁ?ron@

A

What do you ‘undé stand by.

exclusive. If P (A) 2
find the. probablhty tha %ﬁ

e




at
(h) Wh do you mean by price relative ?

(i What should be the base year like ip
COrlStruCtlng index number ?

W@S W IEIce fofed @@ @ %ﬁ?‘
Vi What is null hypothesis ?

| R |
Answer any four of the following quest1ons |
: Sx4= 20
- (q) What are the characteristics of an ideal
. average ?
o sTeR e B R

. (b) In a distribution A.M. =45,
b a Median = 48, Coefficient of skewness
~ ==0.4. Find the value of standard
deV1at10r1 and mode.

,'_l"aﬁﬁd@mﬂwmm 45, = 48W
e ';_-Werﬁw QeI = — 0.4 lwﬁw I T
9 j“i’_ﬂVWhat is scatter diagram ? How does it

'\"'f‘fj'help us in studying th6 correlation
ey _‘between two variables ?

. (Sem~3 Bk ] ; td.
e (?393)_HG1/HGQ/G 9 o



(d)

(9)

4R B Ree w1 m m m -

Mention the chief CharacteI‘lStICS of
normal distribution.

Wa@aw“@ﬁmww|

Discuss the advantages-‘f of sample
survey over census method.

G WWW&@W
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Write a note on usefulness of 1ndex
number

m\mmﬂwmmﬁm

As‘suming the probablhty_; of a male

birth as __1_ find the probab111ty that a

fam11y of . 3 children will have (i) one
girl, and (i) at least one. vg1r1



(h)

Explam the concepts of type I and type II
error of testing hypothesis. - 2+4=¢

mﬁwsww—%mﬁm
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4.  (a) Calculate mean and coefficient of
- variation from the following data :
woe il SRR 2/ ST W o K599
| R el s
Marks 0-10 10-20 20-30 30-40 40-50
™= |
Number of students i S 60 40 10
Q9-YqK V{\?UT | |
(b) What is skewness ? Explam different .
 types of skewness : A -4
Wm%9%®%WﬁWWWWI

-What is Karl Pearsons coefﬁ01ent- of
. correlation ?° What does it measure ? .
Interpret the following values of

coefficient of correlation :

r=-1, r=0, r=1 | 4

W (¢ AT T Il F23 6% o
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r=-1, r=0, r=1
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(b)  Estimate the two regresm{j n

Tﬁm\a%ﬂﬁﬁw

Pt F9 8
X .6 2
Younda 9514 §

Also estlmate X, if Y 20

6.  (a) _Deﬁne . 4
(1) Random EXperiment; ‘
(ii) Trial and Event :

| (i) mqfﬁxs AT
(u) A RIS <5l

(b) A meteorolog1st has fo%gast the
. probablhty of rains on Mongieiy,l Tuesday
and Wednesday as 0.6,.0.5 and 0.3
respectlvely Assummg thatawe weather
from day to day 1s 1ndep¢ e;}t what
.s the probability that it will rain at
least once in these three

T (AN, TG




(b)

3. (a)

(b)

Year
=

What ; is Poisson distribution ? Giye two

€Xamples of poisson distribution.

2+2=4
PR 9% 2 o6 454 70/ Twizad gy

If three coins are tossed at a time, find

€Xpectation and variance of the number
of heads. 5

(S0 sml qFetsl @oiRE Moewe sl Terg
Moo erori e ePwel Fef =i

Six coins are tossed simultaneously. What

1s the probabﬂity of getting (1) 2 heads,

and (ii) more than 2 heads. 6
! 4! el @ ofRG el 1 2 | (i) T 9,
W% (i) qOIOCd @R Y% (ARF Tl & 292

Explain the importance of normal
distribution in statistics. 4

IR RRTS LA 3541 ¥<g G 391 |

 Calculate the trend values by using
least square method and estimate the
. _sales of 2022 from the following data :

o+1=6
o ] @S IR 3R T Tl B s
eigef! ST TG S 2022 IR AR TRy

Rep! e w1
2017 2018 2019 2020 2021

Sales (in thousand): 35 56 79 30 o
R& (2R 5970) .
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10.
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(b)

(a)

(b)

What is index number el What S
various types of index nuxﬁbef B
1+3 4

T 52 iy Ry o szzrﬁ 2

What is time series ? Wh‘at is the
purpose of ‘time series analysis ?

.  1+3-4
It AT 52 it M st Srepas 52
Calculate index numbers from the

following data using Laspeyre’s,
Paasche’s and Fisher’s formulae :

2+2f2=6~
SIGCPAR, Sl o Rreies @ o 3R/ A

AME WUF AR SHIE SfSoldt 7t ¢

Artiéle Base Year Current Year

agj

batw>».

fefe = sfere S R
PI'ICC Quantity Price QUant]ty
v ARWd W ’fﬁ‘m
- 4 8 9 .G
4 7 -5 8
6 8 5
5 4 T

N AW




11. (a)

. (b)

12. (a)
(b)
13. (a)
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What is test of significance ? Discuss

»Varlous steps assomated with test of

significance. 6
TSl 4w e MLl AR e o0
FMCFLTIZ SIS w | |

Explain the concept of (i) point
estimation, and (i) interval estimation.
4

(i) R, e, i (ii) ST ST 0]

[RGB

What is Sampl.ing distribution ?
Explain. N = 5

a%ma%a%?mm®|

‘What is simple random sampling ?

Discuss advantages and disadvantages

“of this method. S
e Ao elferw e «@? T ARl

T SPREPTIE SEToAt 1

Whaﬁ is dispersion ? Why is S.D. calied |
the best measure of diSperSiOn 5 5 :
ol 67 TS e m"m W{
{%{ fFn (PRI =A? :%
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(b)

rom the following infomation
Karl Pearson’s coefficient ¢

BRI

‘

> X =100, 2.Y=150, n=1

=

(X -10)2 =180, (Y -15




